
MATHS

BOOKS - MBD

Surface Areas and Volumes

Exercise

1. The floor of a rectangular hall has a

perimeter 250 m. If the cost of painting the

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_ENvmVgJnqCun


four walls at the rate of Rs 10 per  is Rs

15000, find the height of the hall.

Watch Video Solution

m2

2. The paint in a certain container is sufficient

to paint an area equal to  . How many

bricks of dimensions 22.5 cm x 10 cm x 7.5 cm

can be painted out of
this container ?

Watch Video Solution

9.375m2

https://dl.doubtnut.com/l/_ENvmVgJnqCun
https://dl.doubtnut.com/l/_q8eolFWcjhee


3. A cubical box has each edge 10 cm a

cuboidal box is 10 cm wide, 12. 5 cm long 8 cm

high. Which box has the greater lateral surface

area and hy how much ?

Watch Video Solution

4. A cubical box has each edge 10 cm and a

cuboidal box is 10 cm wide, 12. 5 cm long 8 cm

high. Which box has the smaller total surface

area and by how much ?

https://dl.doubtnut.com/l/_pjgw2CaBkSCf
https://dl.doubtnut.com/l/_80MJh1y8KGza


Watch Video Solution

5. A small indoor greenhouse (herbarium is

made entirely of glass panes (including base)

held together with tape. It is 30 cm long, 25

cm wide and 25 cm high. What is the surface

area of the glass ?

Watch Video Solution

6. A small indoor greenhouse (herbarium is

made entirely of glass panes (including base)

https://dl.doubtnut.com/l/_80MJh1y8KGza
https://dl.doubtnut.com/l/_qxURxM9UxboQ
https://dl.doubtnut.com/l/_CkSa51Gzcsyo


held together with tape. It is 30 cm long, 25

cm wide and 25 cm high. How much of tape is

needed for all the 12 edges ?

Watch Video Solution

7. Shanti Sweets Stall was placing an order for

making cardboard boxes for paking their

sweets. Two sizes of boxes were required. The

bigger of dimensions 25 cm by 20 cm by 5 cm

and the smaller of dimensions 15 cm by 12 cm

by 5 cm. 5% of the total surface area is

https://dl.doubtnut.com/l/_CkSa51Gzcsyo
https://dl.doubtnut.com/l/_d9Zb3p5lNT7F


required extra, for all the overlaps. If the cost

of the cardboard is Rs 4 for 1000 , find the

cost of cardboard required for supplying 250

boxes of each kind.

Watch Video Solution

cm2

8. Parveen wanted to make a temporary

shelter for her car, by making a box-like

structure with tarpaulin that covers all the

four sides and the top of the car (with the

front face as a flap which can be rolled up).

https://dl.doubtnut.com/l/_d9Zb3p5lNT7F
https://dl.doubtnut.com/l/_ffwg7xU47dQr


Assuming that the stitching margins are very

small, and therefore negligible, how much,

tarpaulin would be required to make the

shelter of height 2.5 m. with base dimensions

4 m x 3 m ?

Watch Video Solution

9. The measurements of the luggage box are

48 cm, 36 cm, and 28 cm. How many sq. cm of

cloth is required to make a cover for the box ?

Watch Video Solution

https://dl.doubtnut.com/l/_ffwg7xU47dQr
https://dl.doubtnut.com/l/_dWUBl185mp6i


10. A class room is 7 m long, 6.5 m wide and 4

m high. It has one door 3 m x 1.5 m and three

windows, each measuring 2 m x 1 m. The

interiror walls are to be colour washed. The

contractor charges Rs 5.25 per sq. m. Find the

cost of colour washing.

Watch Video Solution

11. Two cubes each of side t cm are joined end

to end. Find the surface area of the resulting

https://dl.doubtnut.com/l/_dWUBl185mp6i
https://dl.doubtnut.com/l/_nRcUJaHOxvjA
https://dl.doubtnut.com/l/_p78KDGMtScob


cuboid.

Watch Video Solution

12. What happens to the surface area of a cube

if each of its each edge is doubled ?

Watch Video Solution

13. The curved surface area of a right circular

cylinder of height 14 cm is . Find the

diamter of the base of the cylinder.

88cm2

https://dl.doubtnut.com/l/_p78KDGMtScob
https://dl.doubtnut.com/l/_Bh9wHAIuLseU
https://dl.doubtnut.com/l/_Ew4i3gzjk7Se


Watch Video Solution

14. It is required to make a closed cylindrical

tank of height 1 m and base diameter 140 cm

from a metal sheet. How many square metres

of the sheet are required for the same?

Watch Video Solution

15. A metal pipe is 77 cm long. The inner

diameter of a cross section is 4cm, the outer

https://dl.doubtnut.com/l/_Ew4i3gzjk7Se
https://dl.doubtnut.com/l/_KnV6fWRsnvYl
https://dl.doubtnut.com/l/_h807se1fYBDu


diameter being 4.4 cm [See Fig. 

]. Find its

inner curved surface area.

Watch Video Solution

16. A metal pipe is 77 cm long. The inner

diameter of a cross section is 4cm, the outer

diameter being 4.4 cm [See Fig. 

https://dl.doubtnut.com/l/_h807se1fYBDu
https://dl.doubtnut.com/l/_a0vZbJsbNrol


]. Find its

outer curved surface area.

Watch Video Solution

17. The diameter of a roller is 84 cm and its

length is 120 cm. It takes 500 complete

revolutions to move once over to level a

playground. Find the area of the playground in

.m2

https://dl.doubtnut.com/l/_a0vZbJsbNrol
https://dl.doubtnut.com/l/_vqxXudozttaf


Watch Video Solution

18. A cylinderical pillar is 50 cm in diameter

and 3.5 m in height. Find the cost of white

washing the curved surface of the pillar at the

rate of Rs 12.50 per .

Watch Video Solution

m2

19. Curved surface area of a right circular

cylinder is 4.4 . If the radius of the base of

the cylinder is 0.7 m, find its height.

m2

https://dl.doubtnut.com/l/_vqxXudozttaf
https://dl.doubtnut.com/l/_8KXYHK0ueqJf
https://dl.doubtnut.com/l/_74Nr3PS6Exw5


Watch Video Solution

20. The inner diameter of a circular well is 3.5

m. It is 10 m deep. Find its inner curved surface

area.

Watch Video Solution

21. The inner diameter of a circular well is 3.5

m. It is 10 m deep. Find the cost of plastering

https://dl.doubtnut.com/l/_74Nr3PS6Exw5
https://dl.doubtnut.com/l/_E1oQEI5RNbwr
https://dl.doubtnut.com/l/_Fd4VrfAv3BII


this curved surface at the rate of Rs 40 per 

.

Watch Video Solution

m2

22. In a hot water heating system, there is a

cylindrical piping of length 28 m and diameter

5 cm. Find the total radiating surface in the

system.

Watch Video Solution

https://dl.doubtnut.com/l/_Fd4VrfAv3BII
https://dl.doubtnut.com/l/_dJx5PP7yOAKJ


23. Find the lateral or curved surface area of a

petrol storage tank that is 4.2 in diameter and

4.5 m high.

Watch Video Solution

24. In Fig., you see the frame of a lampshade. It

is to be covered with a decorative cloth. The

frame has a base diameter of 20 cm and

height of 30 cm. A margin of 2.5 cm is to be

given for folding it over the top and bottom of

https://dl.doubtnut.com/l/_Gq8eGxzkCQUb
https://dl.doubtnut.com/l/_amRnMElsj379


the frame. Find how much cloth is required for

covering the lampshade. Assume 

Watch Video Solution

π =
22

7

25. The students of a Vidyalaya were asked to

participate in a competition for making and

decorating penholders in the shape of a

cylinder with a base, using cardboard. Each

penholder was to be of radius 3 cm and height

10.5 cm. The Vidyalaya was to supply the

competitors with cardborad. If there were 35

https://dl.doubtnut.com/l/_amRnMElsj379
https://dl.doubtnut.com/l/_dSMewJ4WwjSI


competitors, how much cardboard was

required to be bought for the competiton ?

Watch Video Solution

26. Find the lateral surface area of a right

circular cylinder, if its base has radius 3 cm and

its height is 5 cm.

Watch Video Solution

https://dl.doubtnut.com/l/_dSMewJ4WwjSI
https://dl.doubtnut.com/l/_9hCIR6WBHS2R


27. A circular cylinder has radius 3 mm and

height 80 cm. Find the lateral surface area of

the cylinder.

Watch Video Solution

28. It is required to make from a sheet of metal

a closed cylindrical tank whose height is 1 m

and whose base radius is 70 cm. How many

square metres of sheet metal is required ?

Watch Video Solution

https://dl.doubtnut.com/l/_dIcrxmatM0JM
https://dl.doubtnut.com/l/_dTQsKpb4QtY9


29. The radius of the base of a closed right

circular cylinder is 21 cm and its height is 100

cm. Find the total surface area of the cylinder.

Watch Video Solution

30. The diameter of a roller 1.5 m long is 84 cm.

If it takes 100 revolutions to level a

playground, find the cost of levelling this

ground at the rate of 50 paise per square

meter.

https://dl.doubtnut.com/l/_dTQsKpb4QtY9
https://dl.doubtnut.com/l/_YIB8kHdAQ808
https://dl.doubtnut.com/l/_VW24wqfW2zwN


Watch Video Solution

31. The outer diameter of a drainage pipe is 1

m and it is 21 m long. Find the cost of painting

the outer surface of the pipe at the rate of Rs

5 per .

Watch Video Solution

m2

32. A cylindrical pillar is 50 cm in diameter and

3.5 m high. Find the cost of white washing its

https://dl.doubtnut.com/l/_VW24wqfW2zwN
https://dl.doubtnut.com/l/_Ex7F8eZ5Hckb
https://dl.doubtnut.com/l/_UX36WAiF2mWt


curved surface at the rate of Rs 40 per .

Watch Video Solution

m2

33. A cylindrical vessel open at the top has a

dimeter 20 cm and height 14 cm. Find the cost

of tin-plating it on the inside at the rate of 70

paise per .

Watch Video Solution

100cm2

https://dl.doubtnut.com/l/_UX36WAiF2mWt
https://dl.doubtnut.com/l/_XYuIFLzMdPZy


34. Diameter of the base of a cone is 10.5 cm

and its slant height is 10 cm. Find its curved

surface area and its total surface area.

Watch Video Solution

35. Find the total surface area of a cone, if its

slant height is 21 m and diamter of its base is

24 m.

Watch Video Solution

https://dl.doubtnut.com/l/_sjiJoUxe3KC6
https://dl.doubtnut.com/l/_EtZsnov0Q1kz
https://dl.doubtnut.com/l/_VUVtPU3s2l9g


36. Curved surface area of a cone is  ,

and its slant height is 14 cm. Find radius of the

base .

Watch Video Solution

308cm2

37. Curved surface area of a cone is  ,

and its slant height is 14 cm. Find total surface

area of the cone.

Watch Video Solution

308cm2

https://dl.doubtnut.com/l/_VUVtPU3s2l9g
https://dl.doubtnut.com/l/_okSu9fcKoswP
https://dl.doubtnut.com/l/_NMzMF2quV9f7


38. A conical tent is 10 m high and the radius

of its base is 24 m. Find slant height of the

tent.

Watch Video Solution

39. A conical tent is 10 m high and the radius

of its base is 24 m. Find cost of the canvas

required to make the tent, if the cost of 

canvas is Rs 70.

Watch Video Solution

1m2

https://dl.doubtnut.com/l/_NMzMF2quV9f7
https://dl.doubtnut.com/l/_FjatZLyDfSsN
https://dl.doubtnut.com/l/_YCtGsyt6VQXL


40. What length of tarpaulin 3 m wide will be

required to make conical tent of height 8 m

and base radius 6m? Assume that the extra

length of material that will be required for

stitching margins and wastage in cutting is

approximately 20 cm (use  = 3.14).

Watch Video Solution

π

41. The slant height and base diameter of a

conical tomb are 25 m and 14 m, respectively.

https://dl.doubtnut.com/l/_YCtGsyt6VQXL
https://dl.doubtnut.com/l/_AM9maVztcyrE


Find the cost of whitewashing its curved

surface at the rate of Rs 210 per .

Watch Video Solution

100m2

42. A Joker’s cap is in the form of a right

ciruclar cone of base radius 7 cm and height

24 cm. Find the area of the sheet required to

make 10 such caps.

Watch Video Solution

https://dl.doubtnut.com/l/_AM9maVztcyrE
https://dl.doubtnut.com/l/_ODStt3CGORNE


43. A bus stop is barricaded from the

remaining part of the road, by using 50 hollow

cones made of recycled cardboard. Each cone

has a base diameter of 40 cm and height 1 m.

If the outer side of each of the cones is to be

painted and the cost of painting is Rs 12 per

, what will be the cost of painting all these

cones (use , and take )

?

Watch Video Solution

m2

π = 3.14 √1.04 = 1.02

https://dl.doubtnut.com/l/_EbbMKnwsI0Ck
https://dl.doubtnut.com/l/_ekVAKN9gduhv


44. For a right circular cone, slant height = 10

cm, radius of base = 5 cm. Find the area of its

lateral surface.

Watch Video Solution

45. The radius of the base of a right circular

cone is 12 m. If the slant height of the cone is

15 m, find the height of the cone.

Watch Video Solution

https://dl.doubtnut.com/l/_ekVAKN9gduhv
https://dl.doubtnut.com/l/_YLeSEMYQRL6S


46. The height of a cone is 16 m and the radius

of its base is 12 m. What is the area of its

curved surface ?

Watch Video Solution

47. Find the total surface area of a cone, if its

slant height is 9 m and the diameter of its

base is 12 m.

Watch Video Solution

https://dl.doubtnut.com/l/_ucRq4cHLX8VP
https://dl.doubtnut.com/l/_Wzd8KHpIbBQ0
https://dl.doubtnut.com/l/_Y9f9qfKefvQL


48. The height of a cone is 16 cm and its base

radius is 12 cm. Find the curved surface area

and the total surface area of the cone. (Use 

= 3.14)

Watch Video Solution

π

49. A corn cob (see Fig. 13.17), shaped

somewhat like a cone, has the radius of its

broadest end as 2.1 cm and length (height) as

20 cm. If each 1 cm2 of the surface of the cob

carries an average of four grains, find how

https://dl.doubtnut.com/l/_Y9f9qfKefvQL
https://dl.doubtnut.com/l/_lMyyhbREadbj


many grains you would find on the entire cob. 

Watch Video Solution

https://dl.doubtnut.com/l/_lMyyhbREadbj


50. A conical tent is 10 m high and the radius

of its base is 24 m. What is its slant height ?

Find the cost of the canvas used, if one  of

canvas costs Rs 14.

Watch Video Solution

m2

51. The radius of a spherical balloon increases

from 7 cm to 14 cm as air is being pumbed

https://dl.doubtnut.com/l/_lMyyhbREadbj
https://dl.doubtnut.com/l/_UqBgNtZ7vB52
https://dl.doubtnut.com/l/_xrfke36a0YRw


into it. Find the ratio of surface areas of the

balloon in the two cases.

Watch Video Solution

52. A hemispherical bowl made of brass has

inner diameter 105 cm. Find the cost of tin-

plating it on the inside at the rate of Rs 16 per

.

Watch Video Solution

100cm2

https://dl.doubtnut.com/l/_xrfke36a0YRw
https://dl.doubtnut.com/l/_Kp3RI79e5vuK


53. Find the radius of a sphere whose surface

area is .

Watch Video Solution

154cm2

54. The diameter of the moon is approximately

one fourth the diamter of the earth. Find the

ratio of their surface area.

Watch Video Solution

https://dl.doubtnut.com/l/_8HrA4ezE1wzU
https://dl.doubtnut.com/l/_GmYV9RS8EGdU


55. A hemispherical bowl is made of steel, 0.25

cm thick. The inner radius of the bowl is 5 cm.

Find the outer curved surface area of the bowl.

Watch Video Solution

56. A right circular cylinder just encloses a

sphere of radius  (see Fig. ). Find surface area

of the sphere.

Watch Video Solution

r

https://dl.doubtnut.com/l/_jbw17w1juysj
https://dl.doubtnut.com/l/_6bbsgmSjrB9c
https://dl.doubtnut.com/l/_ZnNz3YTg5DUY


57. A right circular cylinder just encloses a

sphere of radius  (see Fig.). Find curved

surface area of the cylinder.

Watch Video Solution

r

58. A right circular cylinder just encloses a

sphere of radius r (see Fig.). Find ratio of the

areas obtained in surface area of the sphere

and curved surface area of the cylinder.

Watch Video Solution

https://dl.doubtnut.com/l/_ZnNz3YTg5DUY
https://dl.doubtnut.com/l/_vpdeeCQjkCa4


59. Find the suface area of a sphere whose

radius is 10 cm : (Take ).

Watch Video Solution

π = 3.14

60. Find the suface area of a sphere whose

radius is 5 cm : (Take ).

Watch Video Solution

π = 3.14

https://dl.doubtnut.com/l/_pNVyHIrgJuZH
https://dl.doubtnut.com/l/_n9J7HvS3CyVN


61. Find the surface area of sphere whose

radius is 3 cm.

Watch Video Solution

62. Find the surface area of a sphere whose

diameter is 21 dm.

Watch Video Solution

https://dl.doubtnut.com/l/_BxDRSzIuSWoO
https://dl.doubtnut.com/l/_sxGuTYV598bJ


63. The radius of a spherical balloon increases

from 6 cm to 12 cm. Compare the surface areas

of the balloon in the two cases.

Watch Video Solution

64. The dome of a building is in the form of a

hemisphere. Its radius is 63 dm. Find the cost

of tin-plating it on the inside at the rate of Rs.

2 per .

Watch Video Solution

100cm2

https://dl.doubtnut.com/l/_lnwb6kKAz9x5
https://dl.doubtnut.com/l/_GPxtvbIkGHFQ


65. Assuming the earth to be a sphere of

radius 6370 km, how many square kilometers

is area of the land, if three-fourth of the

earth’s surface is convered by water.

Watch Video Solution

66. A wooden toy is in the form of a cone

surmounted by a hemisphere. The diameter of

the base of the cone is 6 cm. and its height is

https://dl.doubtnut.com/l/_GPxtvbIkGHFQ
https://dl.doubtnut.com/l/_il3eQWTkwlB2
https://dl.doubtnut.com/l/_enNqQhlirkgu


4 cm. Find the cost of painting the toy at the

rate of Rs. 50 per .

Watch Video Solution

1000cm2

67. A matchbox 4 cm x 2.5 cm x 1.5 cm. What

will be the volume a packet containing 12 such

boxes ?

Watch Video Solution

https://dl.doubtnut.com/l/_enNqQhlirkgu
https://dl.doubtnut.com/l/_9GrSuczQKQf9


68. A cuboidal water tank is 6 m long, 5 m wide

and 4.5 m deep. How many litres of water can

it hold ? (1  = 1000 ).

Watch Video Solution

m3 l

69. A cuboidal vessel is 10 m long and 8 m

wide. How high must it be made to hold

 of liquid ?

Watch Video Solution

380m3

https://dl.doubtnut.com/l/_CgW0YBfEWbsz
https://dl.doubtnut.com/l/_9ZkuB9k5l6UI
https://dl.doubtnut.com/l/_gKNtpM0t6xXr


70. Find the cost of digging a cuboidal pit 8 m

long, 6 m broad and 3 m deep at the rate of Rs

30 per .

Watch Video Solution

m3

71. The capacity of a cuboidal tank is 50000

litres of water. Find the breadth of the tank, if

its length and depth are respectively 2.5 m and

10 m. ( )

Watch Video Solution

1000l = 1m3

https://dl.doubtnut.com/l/_gKNtpM0t6xXr
https://dl.doubtnut.com/l/_JD1u3621Nfxj


72. A village, having a population of 4000,

requires 150 litres of water per head per day. It

has a tank measuring 20 m by 15 m by 6 m. For

how many days will the water of this tank last

?

Watch Video Solution

73. A godown measures .

Find the maximum number of wooden crates

40m × 25m × 15m

https://dl.doubtnut.com/l/_UG9jA0Ledcsb
https://dl.doubtnut.com/l/_aFn4GtGWnFwj


each measruing  that

can be stored in the godown.

Watch Video Solution

1.5m × 1.25m × 0.5m

74. Find the minimum number of bricks each

measuring 

required to construct a wall 10 m long, 6 m

high and 1.5 m thick.

Watch Video Solution

22.5cm × 11.5cm × 7.5cm

https://dl.doubtnut.com/l/_aFn4GtGWnFwj
https://dl.doubtnut.com/l/_5dEDRFA3LPUO


75. A solid cube of side 12 cm is cut into eight

cubes of equal volume. What will be the side

of the new cube ? Also, find the ratio between

their surface areas.

Watch Video Solution

76. A river 3 m deep and 40 m wide is flowing

at the rate of 2 km per hour. How much water

will fall into the sea in a minute?

Watch Video Solution

https://dl.doubtnut.com/l/_Sg77c3gboxuM
https://dl.doubtnut.com/l/_XXweL6vpIogR


77. Find the length of a wooden plank of width

2.5 m, thickness 0.025m and volume 0.25 .

Watch Video Solution

m3

78. The rainfall on a certain day was 6 cm. How

many litres of water fell on 3 hectares of field

on that day ?

Watch Video Solution

https://dl.doubtnut.com/l/_XXweL6vpIogR
https://dl.doubtnut.com/l/_kNZ4Ra0hWzHG
https://dl.doubtnut.com/l/_u99C6xQI8ofZ
https://dl.doubtnut.com/l/_nWQphoopBrq8


79. A solid rectangular piece of iron measures

2.5 m by 1.2 m by 1 cm. Find the weight of this

piece, if 1 cubic cm of iron weighs 8 grams.

Watch Video Solution

80. The dimensions of a metal block are 4.5 m

by 1.5 m by 27 m. It is melted and recast into

cubes, each of edge 45 cm. How many cubes

can be formed ?

Watch Video Solution

https://dl.doubtnut.com/l/_nWQphoopBrq8
https://dl.doubtnut.com/l/_RnpBeq0E6iMo
https://dl.doubtnut.com/l/_wXYUyjvWCagc


81. The length, breadth and thickness of a

metallic cuboid are 28 cm, 14 cm and 7 cm

respectively. It is melted and made into a cube.

What is the edge of the cube can be formed ?

Watch Video Solution

82. The circumference of the base of a

cylindrical vessel is 132 cm and its height is 25

cm. How many litres of water can it hold ?

Watch Video Solution

(1000cm3 = 11)

https://dl.doubtnut.com/l/_wXYUyjvWCagc
https://dl.doubtnut.com/l/_uKOyaZ439RfC


83. The inner diameter of a cylindrical wooden

pipe is 24 cm and its out diameter is 28 cm.

The length of the pipe is 35 cm. Find the mass

of the pipe, if 1  of wood has a mass of 0.6

g.

Watch Video Solution

cm3

84. A soft drink is avaliable in two packs a tin

can with a rectangular base of length 5 cm

https://dl.doubtnut.com/l/_uKOyaZ439RfC
https://dl.doubtnut.com/l/_leJfwYmvPCoz
https://dl.doubtnut.com/l/_P6qiTigbJyKK


and width 4 cm, having height of 15 cm . Find

container's capacityand how much ?

Watch Video Solution

85. A soft drink is avaliable in two packs a

plastic cylinder with circular base of diameter

7 cm and height 10 cm. Find the container's

capacity and how much ?

Watch Video Solution

https://dl.doubtnut.com/l/_P6qiTigbJyKK
https://dl.doubtnut.com/l/_LBcLqCP0yiNX


86. If the lateral surface of a cylinder is 94.2

 and its height is 5 cm, then find radius of

its base. (Use  = 3.14)

Watch Video Solution

cm2

π

87. If the lateral surface of a cylinder is 94.2

 and its height is 5 cm, then find volume of

the cylinder. ( Use  = 3.14)

Watch Video Solution

cm2

π

https://dl.doubtnut.com/l/_OqZsMLfhtR0E
https://dl.doubtnut.com/l/_sYXmqrosisIs
https://dl.doubtnut.com/l/_FCSTSzjcmvmm


88. It costs Rs 2200 to paint the inner curved

surface of a cylindrical vessel 10 m deep. If the

cost of painting is at the rate of Rs 20 per ,

find inner curved surface area of the vessel.

Watch Video Solution

m2

89. It costs Rs 2200 to paint the inner curved

surface of a cylindrical vessel 10 m deep. If the

cost of painting is at the rate of Rs 20 per ,

find radius of the base.

Watch Video Solution

m2

https://dl.doubtnut.com/l/_FCSTSzjcmvmm
https://dl.doubtnut.com/l/_bm74AvthphgH


90. It costs Rs 2200 to paint the inner curved

surface of a cylindrical vessel 10 m deep. If the

cost of painting is at the rate of Rs 20 per ,

find capacity of the vessel.

Watch Video Solution

m2

91. The capacity of a closed cylindrical vessel of

height 1m is 15.4 litres. How many square

https://dl.doubtnut.com/l/_bm74AvthphgH
https://dl.doubtnut.com/l/_W76cuxNi3h8m
https://dl.doubtnut.com/l/_eLxzzKoqFXAc


metres of metal sheet would be needed to

make it ? ( )

Watch Video Solution

1000l = 1m3

92. A bag of grain contains  of grain.

How many bags are needed to fill a drum of

radius 4.2 m and height 5m?

Watch Video Solution

2.8m3

https://dl.doubtnut.com/l/_eLxzzKoqFXAc
https://dl.doubtnut.com/l/_9hvGvky6NXVF


93. A lead pencil consists of a cylinder of wood

with a solid cylinder of graphite filled in the

interior. The diameter of the pencil is 7 mm

and diameter of graphite is 1 mm. If the length

of the pencil is 14 cm, find the volumes of the

wood and that of the graphite.

Watch Video Solution

94. A patient in a hospital is given soup daily

in a cylindrical bowl of diameter 7 cm. If the

https://dl.doubtnut.com/l/_N6K9DXhNtCXi
https://dl.doubtnut.com/l/_6LDqw1IDU6E5


bowl is filled with soup to a height of 4 cm,

how much soup the hospital has to prepare

daily to serve 250 patients ?

Watch Video Solution

95. Find the volume of a right circular cylinder,

if the radius  of its base and its altitude 

are : .

Watch Video Solution

(r) (h)

r = 3.5cm, h = 40cm

https://dl.doubtnut.com/l/_6LDqw1IDU6E5
https://dl.doubtnut.com/l/_3FBuQabMUDGD


96. Find the volume of a right circular cylinder,

if the radius  of its base and its altitude 

are : .

Watch Video Solution

(r) (h)

r = 5m, h = 15m

97. Find the volume of u cylindei, if the

diameter  of its base and its altitude 

are : .

Watch Video Solution

(d) (h)

d = 21cm, h = 30cm

https://dl.doubtnut.com/l/_0R14G4Ip7fUq
https://dl.doubtnut.com/l/_BSGTVNZre8ah
https://dl.doubtnut.com/l/_j3V06UJW5fGh


98. Find the volume of u cylindei, if the

diameter  of its base and its altitude 

are : .

Watch Video Solution

(d) (h)

d = 7cm, h = 12cm

99. At a Ramzan Mela, a stall keeper in one of

the food stalls has a large cylindrical vessel of

base radius 15 cm filled up to a height of 32 cm

with orange juice. The juice is filled in small

cylindrical glasses of radius 3 cm up to a

height of 8 cm, and sold for ₹ 3 each. How

https://dl.doubtnut.com/l/_j3V06UJW5fGh
https://dl.doubtnut.com/l/_pjcrH11k1NcC


much money does the stall keeper receive by

selling the juice completely?

Watch Video Solution

100. A water tank is cylindrical in shape. The

diameter of its base on the inside is 28 m and

its depth is 7 m. How many kilolitres of water

can it hold ?

Watch Video Solution

https://dl.doubtnut.com/l/_pjcrH11k1NcC
https://dl.doubtnut.com/l/_eZZKPOa8FlKk


101. The circumference of the base of a

cylinder is 66 cm and its height is 35 cm. Find

the volume of the cylinder.

Watch Video Solution

102. A cylindrical tank has a capacity of 6160

. Find its depth, if the diameter of its base

is 28 m.

Watch Video Solution

m3

https://dl.doubtnut.com/l/_ZK5Mcbx5MviE
https://dl.doubtnut.com/l/_7LIGgoteZuzs
https://dl.doubtnut.com/l/_NMBCfqvpH1NA


103. The thickness of a hollow wooden cylinder

is 2 cm. It is 35 cm long and its inner rdius is 12

cm. Find the volume of wood required to make

the cylinder, assuming it is open at either end.

Watch Video Solution

104. A rectangular piece of paper 

is folded without overlapping to make a

cylinder of height 4 cm. Find the volume of the

cylinder.

Watch Video Solution

11cm × 4cm

https://dl.doubtnut.com/l/_NMBCfqvpH1NA
https://dl.doubtnut.com/l/_NCpKrb8oZJPb


105. A cylindrical bucket, 14 cm in radius, is

filled with water to some height. If a

rectangular solid of size

 is immersed in the

water, find the height by which water rises in

the bucket.

Watch Video Solution

28cm × 11cm × 10cm

https://dl.doubtnut.com/l/_NCpKrb8oZJPb
https://dl.doubtnut.com/l/_Xu8a2pOubOPE


106. A piece of metal pipe is 77 cm long, the

inside diameter of a cross-section is 4 cm and

the outside diameter is 4.5 cm. If the metal

weighs 8 g per , what is the weight of

piece of pipe ?

Watch Video Solution

cm3

107. The thicknes of a metallic tube is 1 cm and

the inner diameter of the tube is 12 cm. Find

https://dl.doubtnut.com/l/_AhNbufcaccpM
https://dl.doubtnut.com/l/_qlIGmlMUOFoQ


the mass of 1 m long tube, if the density of the

metal be .

Watch Video Solution

7.8g/cm3

108. The rain which fall on a roof 18 m long and

16.5 m wide is allowed to be stored into a

cylindrical tank 8 cm diameter. If it rains 10 cm

on a day, what is the rise of water level in the

tank due to it ?

Watch Video Solution

https://dl.doubtnut.com/l/_qlIGmlMUOFoQ
https://dl.doubtnut.com/l/_SXErrpyGtXKR
https://dl.doubtnut.com/l/_DDsf1yVlH0Xy


109. A piece of ductile metal is in the formof a

cylinder of diameter 1 cm and length 5 cm. It is

drawn out into a wire of diameter 1 mm. What

will be the length of the wire so obtained ?

Watch Video Solution

110. A baby powder tin has square base with

side 9 cm and height 12 cm. Another has

circular base with radius 3.5 cm and height 10

cm. Which of the two contains more powder

and by how much ?

https://dl.doubtnut.com/l/_DDsf1yVlH0Xy
https://dl.doubtnut.com/l/_3OYMgZWb6AZ7


Watch Video Solution

111. Find the volume of the right circular cone

with radius 6 cm, height 7 cm .

Watch Video Solution

112. Find the volume of the right circular cone

with radius 3.5 cm, height 12 cm .

Watch Video Solution

https://dl.doubtnut.com/l/_3OYMgZWb6AZ7
https://dl.doubtnut.com/l/_UgpBAufp31wJ
https://dl.doubtnut.com/l/_tP5m8VfQD6oM
https://dl.doubtnut.com/l/_APrA508eSnAM


113. Find the capacity of a conical vessel with

radius 7 cm, slant height 25 cm.

Watch Video Solution

114. Find the capacity of a conical vessel with

height 12 cm, slant height 13 cm.

Watch Video Solution

https://dl.doubtnut.com/l/_APrA508eSnAM
https://dl.doubtnut.com/l/_i2eqf3vHLJ5b


115. The height of a cone is 15 cm. If its volume

is , find the radius of the base. (Use 

= 3.14)

Watch Video Solution

1570cm3 π

116. If the volume of a right circular cone of

height 9 cm is , find the diameter of its

base.

Watch Video Solution

48πcm3

https://dl.doubtnut.com/l/_TZeIetG1mYbL
https://dl.doubtnut.com/l/_9mXYpKHpfQeE
https://dl.doubtnut.com/l/_lZ08yCD03vDN


117. A heap of wheat is in the form of a cone

whose diameter is 10.5 m and height is 3 m.

Find its volume. The heap is to be covered by

canvas to protect it from rain. Find the area of

the canvas required.

Watch Video Solution

118. Find the volume of a right circular cone

102 cm high if the radius of its base is 28 cm.

Watch Video Solution

https://dl.doubtnut.com/l/_lZ08yCD03vDN
https://dl.doubtnut.com/l/_yEr9eAmhW3Aq


119. The height of a cone is 15 cm and the area

of the base is . Find the volume.

Watch Video Solution

314cm2

120. Find the volume of the right circular cone

with radius 3.5 cm, height 12 cm .

Watch Video Solution

https://dl.doubtnut.com/l/_asDobeLGuFqp
https://dl.doubtnut.com/l/_6LCSY2XNJkk5


121. The diameter of a right circular cone is 4

cm and its volume is . What is its

height ?

Watch Video Solution

48πcm3

122. A conical paper cup is in the form of a

right circular cone with height 5 cm and

diameter of the base 4 cm. How much water

can it hold ?

Watch Video Solution

https://dl.doubtnut.com/l/_51vau726ROfl
https://dl.doubtnut.com/l/_y1KtDMJTDj2t


123. The circumference of the base of a 9 m

high conical tent is 44 m. Find the volume of

the air in it.

Watch Video Solution

124. A conical vessel whose internal radius is 5

cm and height of 24 cm is full of water. The

water is emptied into a cylindrical vessel with

internal radius 10 cm. Find the height to which

the liquid rises.

https://dl.doubtnut.com/l/_y1KtDMJTDj2t
https://dl.doubtnut.com/l/_S5gkxFSefZAZ
https://dl.doubtnut.com/l/_RqJpfD2IVrGP


Watch Video Solution

125. The radius and the height of a right

circular cone are in the ratio 5 : 12. If its

volume is , find the slant height and

the radius of the cone. [Use  = 3.14]

Watch Video Solution

314cm3

π

126. The volume of a conical tent is 

and the area of its base is , Find the

1232m3

154m2

https://dl.doubtnut.com/l/_RqJpfD2IVrGP
https://dl.doubtnut.com/l/_4MJTuFHWBeAg
https://dl.doubtnut.com/l/_rxD2Jr8KuFoB


length of the canvas required to build the

tent, if the canvas is 2 m in width.

Watch Video Solution

127. Find the volume of a sphere whose radius

is 7 cm.

Watch Video Solution

128. Find the volume of a sphere whose radius

is 0.63 cm.

https://dl.doubtnut.com/l/_rxD2Jr8KuFoB
https://dl.doubtnut.com/l/_XizyjETTt3VX
https://dl.doubtnut.com/l/_R73rDqVsAM5i


Watch Video Solution

129. Find the amount of water displaced by a

solid spherical ball of diameter 28 m.

Watch Video Solution

130. Find the amount of water displaced by a

solid spherical ball of diameter 0.21 m.

Watch Video Solution

https://dl.doubtnut.com/l/_R73rDqVsAM5i
https://dl.doubtnut.com/l/_c8AjRR5Gj9tX
https://dl.doubtnut.com/l/_9nUnykXgnD4u
https://dl.doubtnut.com/l/_jjTEAinxWtuB


131. The diameter of a metallic ball is 42 cm.

What is the mass of the ball, if the metal

weighs 8.9 g per  ?

Watch Video Solution

cm3

132. The diameter of the moon is

approximately one-fourth the diameter of the

earth. What fraction is the volume of the

moon of the volume of the earth ?

Watch Video Solution

https://dl.doubtnut.com/l/_jjTEAinxWtuB
https://dl.doubtnut.com/l/_EOyFqCz61JC7


133. How many litres of milk can a

hemispherical bowl of diameter 10.5 cm hold?

Watch Video Solution

134. A hemispherical tank is made up of an

iron sheet 1 cm thick. If the inner radius is 1 m,

then find the volume of the iron used to make

the tank.

Watch Video Solution

https://dl.doubtnut.com/l/_SQub7z1YGD9U
https://dl.doubtnut.com/l/_uI8z5aJWJOCz
https://dl.doubtnut.com/l/_3rkb7jSZx619


135. Find the volume of a sphere whose

surface area is  .

Watch Video Solution

154cm2

136. A dome of a building is in the form of a

hemisphere. From inside, it was white ¬

washed at the cost of Rs 498.96. If the cost of

white-washing is at the rate of Rs 2.00 per

square metre, find the inner surface area of

the dome.

Watch Video Solution

https://dl.doubtnut.com/l/_3rkb7jSZx619
https://dl.doubtnut.com/l/_i1XLNNHNq2Wb


137. A dome of a building is in the form of a

hemisphere. From inside, it was white ¬

washed at the cost of Rs 498.96. If the cost of

white-washing is at the rate of Rs 2.00 per

square metre, find the volume of the air inside

the dome.

Watch Video Solution

https://dl.doubtnut.com/l/_i1XLNNHNq2Wb
https://dl.doubtnut.com/l/_lPCeEgritLMy


138. Twenty seven solid iron spheres, each of

radius r and surface area S are melted to form

a sphere with surface area S'. Find the radius r'

area of the new sphere.

Watch Video Solution

139. Twenty seven solid iron spheres, each of

radius r and surface area S are melted to form

a sphere with surface area S'. Find the ratio of

S and S'.

https://dl.doubtnut.com/l/_6pjw2RN72z4l
https://dl.doubtnut.com/l/_EfABw9snipxU


Watch Video Solution

140. A capsule of medicine is in the shape of a

sphere of diameter 3.5 mm. How much

medicine (in ) is needed to fill this

capsule ?

Watch Video Solution

mm3

141. Find the volume of a sphere of radius 4

cm.

Watch Video Solution

https://dl.doubtnut.com/l/_EfABw9snipxU
https://dl.doubtnut.com/l/_4GdubsRaXcOy
https://dl.doubtnut.com/l/_N47Jjungti8g


142. Find the volume of a sphere whose radius

is : 3.5 cm.

Watch Video Solution

143. Find the volume of a sphere whose radius

is : 14 dm.

Watch Video Solution

https://dl.doubtnut.com/l/_N47Jjungti8g
https://dl.doubtnut.com/l/_nMmdc5U2dFZt
https://dl.doubtnut.com/l/_fFqVzL2n1nJr


144. A hemispherical bowl has inner diameter

11.2 cm.
Find the volume of the milk it can hold.

Watch Video Solution

145. If S denotes the surface area and V the

volume of the sphere, then show that

Watch Video Solution

S3 = 36πV 2

https://dl.doubtnut.com/l/_taT4Au91RYtR
https://dl.doubtnut.com/l/_yh2q7FdN1cLY


146. The surface area of a sphere is .

Find its volume.

Watch Video Solution

1386cm2

147. The diameter of a copper sphere is 6 cm. It

is beaten and drawn into a wire of diameter

0.2 cm. Find the length of wire.

Watch Video Solution

https://dl.doubtnut.com/l/_f34HAvAuqwaE
https://dl.doubtnut.com/l/_05aBz81FMSHs


148. A hemispherical bowl is made of steel 0.25

cm thick. The inner radius of the bowl is 5 cm.

Find the volume of steel used in making the

bowl. [ Take  = 3.14]

Watch Video Solution

π

149. Find the volume and total surface area of

a soild in the form of a right circular cylinder

with hemispherical ends whose extreme

https://dl.doubtnut.com/l/_S98Orge1u8Ih
https://dl.doubtnut.com/l/_IgvdyyEnxqwy


height is 19 cm and the radius of the cylinder

is 3.5 cm

Watch Video Solution

150. A sphere of diameter 6 cm is dropped into

a cylindrical vessel partly filled with water. The

diameter of the vessel is 12 cm. If the sphere is

completely submerged, by how much will the

surface of water rise ?

Watch Video Solution

https://dl.doubtnut.com/l/_IgvdyyEnxqwy
https://dl.doubtnut.com/l/_rmUhfPVKFHiD
https://dl.doubtnut.com/l/_UuoPAApcA1MX


151. A spherical balloon grows to twice its

radius when inflated. How has its volume

increased ?

Watch Video Solution

152. The diamater of a shot-put made of brass

is 14 cm. If 1  of brass has mass 9 g, find

the mass of the shot-put.

Watch Video Solution

cm3

https://dl.doubtnut.com/l/_UuoPAApcA1MX
https://dl.doubtnut.com/l/_CERBaLfPvvyM
https://dl.doubtnut.com/l/_FLE7yHy2ryxT


153. How many lead shots each 0.3 cm in

diameter be can made from a cuboid of

dimension  ?

Watch Video Solution

9cm × 11cm × 12cm

154. A copper wire 36m long with diameter 2

mm is melted to form a sphere. Find volume of

the copper wire.

Watch Video Solution

https://dl.doubtnut.com/l/_FLE7yHy2ryxT
https://dl.doubtnut.com/l/_X9a4cqyXjL7V


155. A copper wire 36m long with diameter 2

mm is melted to form a sphere. Find volume of

the copper wire.

Watch Video Solution

156. A copper wire 36m long with diameter 2

mm is melted to form a sphere. Find the

radius of the sphere.

Watch Video Solution

https://dl.doubtnut.com/l/_jXV9XdiEbqRP
https://dl.doubtnut.com/l/_7b4idsV4IjCG
https://dl.doubtnut.com/l/_yY3O11rZmLWe


157. A hemispherical bowl of steel is of

thickness 0.3 cm (See Fig) If the inner radius of

the bowl is 7 cm, find the volume of the steel

used in making the bowl.

Watch Video Solution

158. Match the following : 

 .

Watch Video Solution

https://dl.doubtnut.com/l/_yY3O11rZmLWe
https://dl.doubtnut.com/l/_inVGt88c8wkE


159. Find x+y+z 

Watch Video Solution

160. If diameter of a sphere is decreased by

25% then what percent does its curved surface

https://dl.doubtnut.com/l/_inVGt88c8wkE
https://dl.doubtnut.com/l/_o9QRYSsplO0b
https://dl.doubtnut.com/l/_SQZq8KY3cQQX


area decrease ?

Watch Video Solution

161. Sameera wants to celebrate the fifth

birthday of her daughter with a party. She

bought thick paper to make the conical party

caps. Each cap is to have a base diameter of 10

cm and height 12 cm. A sheet of the paper is

25 cm by 40 cm, and approximately 82% of the

sheet can be effectively used for making the

caps after cutting. What is the minimum

https://dl.doubtnut.com/l/_SQZq8KY3cQQX
https://dl.doubtnut.com/l/_mtZ2AaNaJpXr


number of sheets of paper that Sameera

would need to buy, if there are to be 15

children at the
party ?

Watch Video Solution

162. The surface area of a cuboid is

A. 2 (lb + bh + hi)

B. 3 (lb + bh + hi)

C. 2 (Ib-bh-hl)

D. 3 (lb - bh - hi).

https://dl.doubtnut.com/l/_mtZ2AaNaJpXr
https://dl.doubtnut.com/l/_DKV6SsRQ2waK


Answer:

Watch Video Solution

163. The surface area of a cube if its edge is a

is?

A. 

B. 

C. 

D. 

7a3

6a3

5a3

5a2

https://dl.doubtnut.com/l/_DKV6SsRQ2waK
https://dl.doubtnut.com/l/_pyscWRHk0x58


Answer:

Watch Video Solution

164. The length, breadth and height of a room

is 5m, 4m and 3m. The cost of white washing

its four walls at the rate
of Rs 7.50 per  is :

A. Rs 110

B. Rs 109

C. Rs 220

D. Rs 105

m2

https://dl.doubtnut.com/l/_pyscWRHk0x58
https://dl.doubtnut.com/l/_LwKLtrAWQ6S5


Answer:

Watch Video Solution

165. The floor of a rectangular hall has a

perimeter 250 m. If the cost of painting the

four walls at the rate of Rs 10 per  is Rs

15000, find the height of the hall.

A. 5m

B. 4m

C. 6m

m2

https://dl.doubtnut.com/l/_LwKLtrAWQ6S5
https://dl.doubtnut.com/l/_iqfkUmBj3ig8


D. 8m

Answer:

Watch Video Solution

166. The breadth of a room is twice its height

and is half of its length. The volume of room is

. Its dimensions are :

A. 16 dm,8 dm, 4 dm

B. 12 dm, 8 dm, 2 dm

512dm3

https://dl.doubtnut.com/l/_iqfkUmBj3ig8
https://dl.doubtnut.com/l/_URNeOSIproya


C. 8 dm, 4 dm, 2 dm

D. 10 dm, 15 dm, 20 dm

Answer:

Watch Video Solution

167. The area of three adjacent faces of a cube

is x, y and z. Its volume V is :

A. V = xyz

B. V 3 = xyz

https://dl.doubtnut.com/l/_URNeOSIproya
https://dl.doubtnut.com/l/_ObIGr4Qt32Dc


C. 

D. None.

Answer:

Watch Video Solution

V 2 = xyz

168. Two cubes each of edge 12 cm are joined.

The surface area of new cuboid is :

A. 

B. 

140cm2

1440cm2

https://dl.doubtnut.com/l/_ObIGr4Qt32Dc
https://dl.doubtnut.com/l/_JDlKulNYHgNJ


C. 

D. 

Answer:

Watch Video Solution

144cm2

72cm2

169. The curved surface area of a cylinder of

height h and base radius r :

A. 

B. 

2πrh

πrh

https://dl.doubtnut.com/l/_JDlKulNYHgNJ
https://dl.doubtnut.com/l/_s4CikoFQRgpm


C. 

D. None.

Answer:

Watch Video Solution

πrh
1

2

170. The total surface area of a cylinder of base

radius r and height h is :

A. 

B. 

2π(r + h)

2πr(r + h)

https://dl.doubtnut.com/l/_s4CikoFQRgpm
https://dl.doubtnut.com/l/_pWFo38QiUDyJ


C. 

D. 

Answer:

Watch Video Solution

3πr(r + h)

4πr(r + h)

171. The curved surface area of a cylinder of

height 14 cm Is 88 . The diameter of its

circular base is

A. 4 cm

cm2

https://dl.doubtnut.com/l/_pWFo38QiUDyJ
https://dl.doubtnut.com/l/_FNt1AnK0e7On


B. 3 cm

C. 2 cm

D. 5 cm

Answer:

Watch Video Solution

172. It is required to make a closed cylindrical

tank of height 1 m and base diameter 140 cm

from a metal sheet. How many square metres

of the sheet are required for the same?

https://dl.doubtnut.com/l/_FNt1AnK0e7On
https://dl.doubtnut.com/l/_XKYD2adO4YKf


A. 6.45 

B. 7.48 

C. 6.48 

D. 5.48 

Answer:

Watch Video Solution

m2

m2

m2

m2

173. A metal pipe is 77 cm long. The inner

diameter of a cross section is 4cm, the outer

diameter being 4.4 cm [See Fig. 

https://dl.doubtnut.com/l/_XKYD2adO4YKf
https://dl.doubtnut.com/l/_kKD1W37HeY1A


]. Find its

inner curved surface area.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

864cm2

968cm2

768cm2

864cm2

https://dl.doubtnut.com/l/_kKD1W37HeY1A


174. The diameter of a roller is 84 cm and its

length is 120 cm. It takes 500 complete

revolutions to move once over to level a

playground. Find the area of the playground in

.

A. 

B. 

C. 

D. 

m2

1584m2

1284m2

1384m2

1184m2

https://dl.doubtnut.com/l/_kKD1W37HeY1A
https://dl.doubtnut.com/l/_5AcRxVnKa7Ea


Answer:

Watch Video Solution

175. A cylindrical pillar is 50 cm in diameter

and 3.5 m in height. Find the cost of painting

the curved surface of the pillar at the rate of ₹

12.50 per  .Assume  , unless stated

otherwise.

A. Rs 68.75

B. Rs 5 8.75

m2 π =
22

7

https://dl.doubtnut.com/l/_5AcRxVnKa7Ea
https://dl.doubtnut.com/l/_SiIfQK0W33IS


C. Rs 48.75

D. Rs 38.75

Answer:

Watch Video Solution

176. The inner diameter of a circular well is 3.5

m. It is 10 m deep. Find its inner curved surface

area.

A. 120m2

https://dl.doubtnut.com/l/_SiIfQK0W33IS
https://dl.doubtnut.com/l/_wvqpkM5DHuTO


B. 

C. 

D. 

Answer:

Watch Video Solution

110m2

130m2

140m2

177. In a hot water heating system, there is a

cylindrical pipe of length 28 m and diameter 5

cm. Find the total radiating surface in the

https://dl.doubtnut.com/l/_wvqpkM5DHuTO
https://dl.doubtnut.com/l/_CXVd6GvOx5rw


system. Assume  , unless stated

otherwise.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

π =
22

7

6.6m2

5.5m2

4.4m2

3.4m2

https://dl.doubtnut.com/l/_CXVd6GvOx5rw


178. The curved surface area of a right circular

cone of slant height 10 cm and base radius 7

cm is :

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

120cm2

220cm2

240cm2

140cm2

https://dl.doubtnut.com/l/_Y3LHzT2XwdG0


179. The height of a cone is 16 cm and base

radius is 12 cm. Find the slant height?

A. 10 cm

B. 15 cm

C. 20 cm

D. 8 cm.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_otrjjg1YTBSJ
https://dl.doubtnut.com/l/_7V8u4xs2bCMY


180. Curved surface area of a cone of base

radius 12 cm and height 16 cm is :

A. 

B. 

C. 

D. .

Answer:

Watch Video Solution

753.6cm2

1205.76cm2

863.8cm2

907.6cm2

https://dl.doubtnut.com/l/_7V8u4xs2bCMY


181. The curved surface area of a cone of slant

height 10 cm and base diameter 10.5 cm is :

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

753.6cm2

1205.76cm2

863.8cm2

907.6cm2

https://dl.doubtnut.com/l/_nuOgG9kTxhu4
https://dl.doubtnut.com/l/_KOI0lGoYOkDU


182. The slant height of a cone is 26 m and

base diameter is 20 m. Its height is :

A. 24 m

B. 25 m

C. 23 m

D. 35 m

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_KOI0lGoYOkDU


183. The curved surface area of a cone is

 and its slant height is 14 cm. The

radius of its base is :

A. 8 m

B. 7 m

C. 9 m

D. 12 m

Answer:

Watch Video Solution

308cm2

https://dl.doubtnut.com/l/_145XFcX79AET


184. A conical tent is 10 m high and the radius

of its base is 24 m. The slant height of tent is :

A. 26m

B. 28m

C. 25m

D. 27m

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_DrPQrVRqUmLT
https://dl.doubtnut.com/l/_80SnygXjtTHI


185. The slant height and base diameter of a

conical tomb are 25 m and 14 m respectively.

The cost of white-washing its curved surface at

the rate Rs 210 per  is :

A. Rs 1233

B. Rs 1155

C. Rs 1388

D. Rs 1432

Answer:

Watch Video Solution

100m2

https://dl.doubtnut.com/l/_80SnygXjtTHI


186. A Joker’s cap is in the form of a right

circular cone of base radius 7 cm and height

24 cm. The area of sheet required to make 10

such caps :

A. 

B. 

C. 

D. 

Answer:

5500cm2

6500cm2

8500cm2

3500cm2

https://dl.doubtnut.com/l/_80SnygXjtTHI
https://dl.doubtnut.com/l/_G6YniJrWEDFX


Watch Video Solution

187. The curved surface area of a hemisphere

of radius r is :

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

2πr2

4πr2

3πr2

5πr2

https://dl.doubtnut.com/l/_G6YniJrWEDFX
https://dl.doubtnut.com/l/_2TacZdEQ9Fz9


188. Total surface area of a hemisphere of

radius r is :

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

4πr2

3πr2

2πr2

5πr2

https://dl.doubtnut.com/l/_2TacZdEQ9Fz9
https://dl.doubtnut.com/l/_aahAhCQ9S7gG


189. The curved surface area of a sphere of

radius 7 cm is :

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

516cm2

616cm2

716cm2

880cm2

https://dl.doubtnut.com/l/_aahAhCQ9S7gG
https://dl.doubtnut.com/l/_WfKihGLBiSnT


190. The curved surface area of a hemisphere

of radius 21 cm is :

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

2772cm2

2564cm2

3772cm2

4772cm2

https://dl.doubtnut.com/l/_pJLClOxU5UfI
https://dl.doubtnut.com/l/_euxzVDQLblyE


191. The curved surface area of a sphere of

radius 14 cm is :

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

2464cm2

2428cm2

2464cm3

2428cm3

https://dl.doubtnut.com/l/_euxzVDQLblyE


192. Curved surface area of sphere of diameter

14 cm is :

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

616cm2

676cm2

616cm3

676cm3

https://dl.doubtnut.com/l/_yVyvCf1L7Ybe
https://dl.doubtnut.com/l/_B6tciTjDS71L


193. Total surface area of a hemisphere of

radius 10 cm is :

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

942cm2

842cm2

942cm3

842cm3

https://dl.doubtnut.com/l/_B6tciTjDS71L


194. The radius of a spherical balloon increases

from 7 cm to 14 cm as air is being pumped

into it. The ratio of surface area of the balloon

in the two cases is :

A. 4 : 1

B. 1 : 4

C. 3 : 1

D. 1 : 2

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_Dua5B4PshXen


Watch Video Solution

195. A matchbox 4 cm x 2.5 cm x 1.5 cm. What

will be the volume a packet containing 12 such

boxes ?

A. 

B. 

C. 

D. 

Answer:

160cm3

180cm3

160cm2

180cm2

https://dl.doubtnut.com/l/_Dua5B4PshXen
https://dl.doubtnut.com/l/_YCuoAdhoRbIu


Watch Video Solution

196. A cuboidal water tank is 6 m long 5 m wide

and 4.5 m deep. How many litre of water can it

hold ?

A. 1350 liters

B. 13500 liters

C. 135000 liters

D. 135 liters

Answer:

https://dl.doubtnut.com/l/_YCuoAdhoRbIu
https://dl.doubtnut.com/l/_jPgwROmpZcJ9


Watch Video Solution

197. A cuboidal vessel is 10 m long and 8 m

wide. How high must it be made to hold

 of liquid ?

A. 4.75 m

B. 7.85 m

C. 4.75 m

D. 4.85 m

Answer:

380m3

https://dl.doubtnut.com/l/_jPgwROmpZcJ9
https://dl.doubtnut.com/l/_Q3peE1PUVeIV


Watch Video Solution

198. The capacity of a cuboidal tank is 50000

litres. The length and depth are 2.5 m and 10

m respectively. Its breadth is :

A. 4 m

B. 3 m

C. 2 m

D. 5 m

Answer:

https://dl.doubtnut.com/l/_Q3peE1PUVeIV
https://dl.doubtnut.com/l/_JbN03KttHwQV


Watch Video Solution

199. A godown measures .

The maximum number of the wooden crates

each measuring  that

can be stored in the godown are :

A. 18000

B. 16000

C. 15000

D. 14000

40m × 25m × 15m

1.5m × 1.25m × 0.5m

https://dl.doubtnut.com/l/_JbN03KttHwQV
https://dl.doubtnut.com/l/_kpaqGx2HfNB9


Answer:

Watch Video Solution

200. A river 3 m deep and 40 m wide is flowing

at the rate of 2 km per hour. How much water

will fall into the sea in a minute?

A. 

B. 

C. 

D. 

4000m3

40m3

400m3

40000m3

https://dl.doubtnut.com/l/_kpaqGx2HfNB9
https://dl.doubtnut.com/l/_gWLLHkVywGDZ


Answer:

Watch Video Solution

201. The circumference of the base of a

cylindrical vessel is 132 cm and its height is 25

cm. Hold ?

A. 33.75 liters

B. 34.65 liters

C. 35.75 liters

D. 38.75 liters

https://dl.doubtnut.com/l/_gWLLHkVywGDZ
https://dl.doubtnut.com/l/_hOW9QlBBtXnl


Answer:

Watch Video Solution

202. If the lateral surface of a cylinder is 94.2

cm and its height is 5 cm. Its base radius is :

A. 3 cm

B. 4 cm

C. 5 cm

D. 6 cm

https://dl.doubtnut.com/l/_hOW9QlBBtXnl
https://dl.doubtnut.com/l/_lDQcEn7870rm


Answer:

Watch Video Solution

203. Cost of painting inear surface of a 10 cm

deep cylindrical vessel is Rs 2200. If the cost of

painting is Rs  then find the radius of

its base.

A. 1.75 m

B. 1.85 m

C. 1.95 m

20/m2

https://dl.doubtnut.com/l/_lDQcEn7870rm
https://dl.doubtnut.com/l/_LIcxmpK7wPo0


D. 1.65 m

Answer:

Watch Video Solution

204. The height and slant height of a cone are

21 cm and 28 cm. Its volume is :

A. 

B. 

C. 

5546cm2

7546cm3

5564cm3

https://dl.doubtnut.com/l/_LIcxmpK7wPo0
https://dl.doubtnut.com/l/_7apQPmZRJoIa


D. 

Answer:

Watch Video Solution

8546cm2

205. The radius and height of a right circular

cone are 6 cm and 7 cm respectively. Its

volume is :

A. 

B. 

254cm3

264cm3

https://dl.doubtnut.com/l/_7apQPmZRJoIa
https://dl.doubtnut.com/l/_jBSYZ9Fk1rIk


C. 

D. 

Answer:

Watch Video Solution

274cm3

284cm3

206. The radius and height of a conical vessel

are 7 cm and 25 cm respectively. Its capacity in

litres is :

A. 1.232 l

https://dl.doubtnut.com/l/_jBSYZ9Fk1rIk
https://dl.doubtnut.com/l/_T4VGgz2TdkLI


B. 1.5 l

C. 1.35 l

D. 1.6 l .

Answer:

Watch Video Solution

207. The height of a cone is 15 cm. If its volume

is  then its base radius is :

A. 12 cm

1570cm3

https://dl.doubtnut.com/l/_T4VGgz2TdkLI
https://dl.doubtnut.com/l/_vVYiL2bF6LTv


B. 10 cm

C. 15 cm

D. 18 m

Answer:

Watch Video Solution

208. The volume of a right circular cone of

height 9 cm is . The diameter of its

base is :

48πcm3

https://dl.doubtnut.com/l/_vVYiL2bF6LTv
https://dl.doubtnut.com/l/_RrNTpcwz296Y


A. 10 cm

B. 12 cm

C. 8 cm

D. 6 cm

Answer:

Watch Video Solution

209. A conical pit of top diameter 3.5m is 12 m

deep. Its capacity in kilo litres is :

https://dl.doubtnut.com/l/_RrNTpcwz296Y
https://dl.doubtnut.com/l/_fZzYbrVMU4Go


A. 38.5 kl

B. 48.5 kl

C. 39.5 kl

D. 47.5 kl

Answer:

Watch Video Solution

210. The height of a cone is 15 cm. If its volume

is  the diameter of its base is :1570cm3

https://dl.doubtnut.com/l/_fZzYbrVMU4Go
https://dl.doubtnut.com/l/_JIsaiBuFiTmn


A. 5 cm

B. 8 cm

C. 20 cm

D. 12 cm

Answer:

Watch Video Solution

211. The diameter of moon is approx, one

fourth of the diameter of the earth. What

https://dl.doubtnut.com/l/_JIsaiBuFiTmn
https://dl.doubtnut.com/l/_psMx06WEXhrQ


fraction of volume of the earth is the volume

of the moon ?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

1

64

1

32

1

16

1

48

https://dl.doubtnut.com/l/_psMx06WEXhrQ


212. The dimensions of a cuboid are

. Its volume in litres is :

A. 10 liters

B. 12 liters

C. 20 liters

D. 25 liters

Answer:

Watch Video Solution

50cm × 40cm × 10cm

https://dl.doubtnut.com/l/_QKgLd8EF5ocF
https://dl.doubtnut.com/l/_bi4WjnfmKI6s


213. The volume of a cuboidal tank is . If

its base area is `50 m^2 then depth of the tank

is :

A. 5 m

B. 200 m

C. 300 m

D. 12500 m

Answer:

Watch Video Solution

250m3

https://dl.doubtnut.com/l/_bi4WjnfmKI6s
https://dl.doubtnut.com/l/_kEC0Tf1BsLmd


214. The length, breadth and height of a

cuboidal solid is 4 cm, 3 cm and 2 cm

respectively. Its volume is :

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

(4 + 3 + 2)cm3

2(4 + 3 + 2)cm3

4 × 3 × 2cm3

2(4 + 3) × 2cm3

https://dl.doubtnut.com/l/_kEC0Tf1BsLmd


215. The volume of a cuboidal solid of length 8

m and breadth 5 m is . Its height is :

A. 5 m

B. 15 m

C. 6 m

D. 18 m

Answer:

Watch Video Solution

200m3

https://dl.doubtnut.com/l/_PtYWx4FF74ch
https://dl.doubtnut.com/l/_u8Ao9HFiZagy


216. The curved surface area of a sphere is

. Its radius is :

A. 6 cm

B. 8 cm

C. 7 cm

D. 5 cm

Answer:

Watch Video Solution

616cm2

https://dl.doubtnut.com/l/_u8Ao9HFiZagy


217. If radius of a sphere is  then its volume

is :

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

2
d

3

πd332

81

πd323

4

πd332

3

πd334

3

https://dl.doubtnut.com/l/_fg6ifXCmhIKd
https://dl.doubtnut.com/l/_QH1NxNSjRigH


218. The capacity of a cylindrical tank is

. Its base diameter is 28 m. The depth

of this tank is :

A. 5 m

B. 8 m

C. 10 m

D. 15 m

Answer:

Watch Video Solution

6160m3

https://dl.doubtnut.com/l/_QH1NxNSjRigH
https://dl.doubtnut.com/l/_n9ieYQTCWBLL


219. The volume of a cylinder of radius r and

length h is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

2πrh

πr2h

πr2h
4

3

2πr2h

https://dl.doubtnut.com/l/_n9ieYQTCWBLL


220. Base radius of two cylinder are in the

ratio 2 : 3 and their heights are in the ratio 5 :

3. The ratio of their volumes is :

A. 27:20

B. 25 : 24

C. 20 : 27

D. 15 : 20

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_JSjJAnGEiadJ


221. If base radius and height of a cylinder are

increased by 100% then its volume increased

by :

A. 0.3

B. 0.4

C. 0.42

D. 0.331

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_ulW4AYHCc6BD


222. The diameter of a sphere is 14 m. The

volume of this sphere is :

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

1437 m31

3

1357 m31

3

1437 m32

3

1337 m32

3

https://dl.doubtnut.com/l/_3BdcT8GvDkRU
https://dl.doubtnut.com/l/_1axneFoBB25Q


223. The volume of a sphere is . The

diameter of sphere is :

A. 4 cm

B. 5 cm

C. 3 cm

D. 6 cm

Answer:

Watch Video Solution

524cm3

https://dl.doubtnut.com/l/_1axneFoBB25Q


224. The total surface area of a cylinder is

. If its height is 5.5 cm then its base

radius is :

A. 5 cm

B. 2.5 cm

C. 1.5 cm

D. 10 cm

Answer:

Watch Video Solution

40πcm2

https://dl.doubtnut.com/l/_dqTKoY1Hs9w2


225. The area of circular base of a right circular

cone is 78.5 . If its height is 12 cm then its

volume is :

A. 

B. 

C. 

D. None.

Answer:

Watch Video Solution

cm2

31.4cm3

3.14cm3

314cm3

https://dl.doubtnut.com/l/_XTQpn7h33SNS


226. The base diameter of a cone is 11.3 cm and

curved surface area is . Its slant height

is : (Taken )

A. 11 cm

B. 9 cm

C. 5 cm

D. 10 cm

Answer:

Watch Video Solution

355cm2

π =
355

113

https://dl.doubtnut.com/l/_YdJeatUywG30



